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HUse wben you. coufd

X Use when a quest:on was attempted but wrong (get help)
\' - NUse when a question was not even attempted . /

Date Pd:
CYU 1.4 Solving 3 Variable Systems
/ W Usewhen you get it right all by yourself . é}ﬁ\
. 5 Use when you did it all by yourself but mde a s:ily m:stake -

CONCEPTS
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Systems solutions’

Substitution & Elimination
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6. A school band performs a spring concert for a crowd Ef 600 people. The revenue for the concert is
$3150. There are 150 more adults at the concert than students. How many of each type of ticket are
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CYU Reflection: How far can you go basic, intermediate, or advanced?

Rate your mastery level!
How confident are you with the skills this CYU covered? Circle the score you would give yourself.
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